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. Let vq,...,v,, be vectors in R™. For each of the following questions, give
one of the following answers: “definitely yes”, “definitely no”, or “sometimes”.
Explain your answer.

(a) (3 points) Suppose m = n and the vectors are linearly independent. Do
the vectors span R™ 7
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(b) (3 points) Suppose m = n + 1. Are the vectors linearly independent?
/\/0. Tle " Shott Fof " Hhoeicn tells tey age ntl teetlon s
inh RY Pyt be /f'zca/‘j J(ﬂ"ac{ﬂ.‘f ;

(c) (3 points) Suppose m =n+ 1. Do the vectors span R" ?
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(d) (3 points) Suppose m = n — 1 and the vectors are linearly independent.
Do the vectors span R™ ?
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(e) (3 points) Suppose m =n — 1. Are the vectors linearly independent?
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(f) (3 points) Suppose m =n — 1. Do the vectors span R"?
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